
Dynamo by Excellware, Inc.

4.7                                                                  Purchase Order Listing

08/22/13 02:34 PM                                                                                                                                          Page 1

_ _ _ _ _P_O_#_ O_p_n_ W_h_s_ D_a_t_e_ _O_r_d_e_r_e_d_  _ _D_a_t_e_ _D_u_e_ _ _ A_l_p_h_a_ _ _ _ B_u_y_e_r_ R_e_f_e_r_e_n_c_e_ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ D_r_o_p_ _S_h_i_p_ _T_o_ _N_a_m_e_ _ _ _ _ _ _ _ _ _ _ _ _ _ V_e_n_d_o_r_ _A_c_k_#_ _ _ _ _  _O_r_d_e_r_ _V_a_l_u_e_  _ _O_p_e_n_ _V_a_l_u_e_

3805      C  Mon 08/12/13              ABRASIVE   P1  Stock Order                                                   A5234               5,111.00     5,111.00

I_t_e_m_#_ _ _ _ _ _ _ _ V_e_n_d_o_r_ _P_a_r_t_#_ _ _ _ _ _ _ _ _ D_e_s_c_r_i_p_t_i_o_n_ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ T_y_p_  _ _O_r_d_e_r_e_d_  _R_e_c_e_i_v_e_d_  _ _B_a_l_a_n_c_e_  _ _ _ _ _C_o_s_t_ U_ D_i_s_c_%_  _ _ _M_u_l_t_  _ _E_x_t_ _C_o_s_t_

73320                             4-1/2x7/8 FLAP DISC  3AX 120X                10         0        10      4.90       0       0      49.00

3A120

03385                             6" KNOT TYPE WIRE WHEEL WITH                  6         0         6     13.00       0       0      78.00

5/8-11 ARBOR .025 WIRE

03407                             4" KNOT TYPE CUP BRUSH WITH                   6         0         6     14.00       0       0      84.00

5/8-11 ARBOR. 020 WIRE

03414                             2-3/4"x5/8-11 ARBOR KNOT TYPE                 2         0         2     10.00       0       0      20.00

STEEL WIRE BRUSH

03419                             2-3/4x.014x5/8-11 S.S. WIRE                   2         0         2     14.50       0       0      29.00

BRUSH, KNOTTED

03426                             4"x5/8-11 KNOT TYPE WIRE WHEEL               18         0        18      9.00       0       0     162.00

03440                             4"x.020 5/8-11 WIRE BRUSH                     6         0         6      8.50       0       0      51.00

20,000 MAX RPM

05751                             3x19x.014 HAND WIRE BRUSH W/                 12         0        12      2.00       0       0      24.00

CURVED HANDLE

20060                             4-1/2x1/4x7/8 GRINDING WHEEL                 25         0        25      1.00       0       0      25.00

FOR STEEL,ST ST,TYPE 27, A24N

20061                             4-1/2x1/4x7/8 GRINDING WHEEL                 50         0        50      1.00       0       0      50.00

FOR CONCRETE, TYPE 27, C24N

20063                             4-1/2x1/4x7/8 GRINDING WHEEL                325         0       325      1.00       0       0     325.00

FOR STEEL,IRON,TYPE 27,A24R

20078                             U-A 6x1/4x7/8 GRINDING WHEEL                  3         0         3      2.00       0       0       6.00

FOR IRON, STEEL, TYPE 27, A24N

20085                             7x1/4x5/8-11 GRINDING WHEEL                  20         0        20      3.50       0       0      70.00

FOR STEEL,ST ST,TYPE 27,A24N

20086                             7x1/4x5/8-11 GRINDING WHEEL                  20         0        20      3.50       0       0      70.00

FOR STEEL,IRON,TYPE 27, A24R

20096                             9x1/4x5/8-11 GRINDING WHEEL                  10         0        10      4.50       0       0      45.00

FOR IRON,STEEL,TYPE 27,A24R

22025                             4-1/2x3/32x7/8 CUT-OFF WHEEL                 25         0        25      1.00       0       0      25.00

FOR CONCRETE,TYPE 27, C24R

23410                             12x1/8x1 CUT OFF BLADE FOR                  110         0       110      3.00       0       0     330.00

STEEL, IRON, TYPE 1, A24R

23458                             14x1/8x20MM H.S. ABRASIVE                   240         0       240      7.00       0       0   1,680.00

BLADE - DUCTILE IRON

23463                             14x1/8x1" H.S. ABR. BLADE                    80         0        80      6.00       0       0     480.00

CONCRETE, MASONRY, BIG M.A.C.

23464                             14x1/8x20MM H.S. ABR. BLADE                 140         0       140      6.00       0       0     840.00

CONCRETE, MASONRY, BIG M.A.C.

23470                             16x1/8x20MM ABRASIVES BLADE                  10         0        10      8.50       0       0      85.00

FOR METAL A24R



Dynamo by Excellware, Inc.

4.7                                                                      Purchase Order Listing

08/22/13 02:34 PM                                                                                                                                                  Page 2

I_t_e_m_#_ _ _ _ _ _ _ _ V_e_n_d_o_r_ _P_a_r_t_#_ _ _ _ _ _ _ _ _ D_e_s_c_r_i_p_t_i_o_n_ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ T_y_p_  _ _O_r_d_e_r_e_d_  _R_e_c_e_i_v_e_d_  _ _B_a_l_a_n_c_e_  _ _ _ _ _C_o_s_t_ U_ D_i_s_c_%_  _ _ _M_u_l_t_  _ _E_x_t_ _C_o_s_t_

24030                             12x3/32x1 METAL CUTTING CHOP                 10         0        10      3.50       0       0      35.00

SAW BLADE TYPE 1, STUD KING

24050                             14x3/32x1" METAL CUTTING CHOP                80         0        80      4.50       0       0     360.00

SAW BLADE, TYPE 1, STUD KING

24051                             14x3/32x1" METAL CUTTING CHOP                 2         0         2      4.50       0       0       9.00

SAW BLADE, IRON WORKER

26001                             4/3x2x5/8-11 MASONRY CUP WHEEL               12         0        12      7.00       0       0      84.00

26011                             5/4x2x5/8-11 MASONRY CUP WHEEL                6         0         6     10.00       0       0      60.00

50021                             5" SANDING DISCS - 36 GRIT                   20         0        20       .50       0       0      10.00

ALUMINUM OXIDE, 2A CLOSED COAT

50023                             5" SANDING DISCS - 60 GRIT                   10         0        10       .50       0       0       5.00

ALUMINUM OXIDE, 2A CLOSED COAT

50032                             7" SANDING DISCS - 36 GRIT                   20         0        20      1.00       0       0      20.00

ALUMINUM OXIDE, 2A CLOSED COAT

_ _ _ _ _P_O_#_ O_p_n_ W_h_s_ D_a_t_e_ _O_r_d_e_r_e_d_  _ _D_a_t_e_ _D_u_e_ _ _ A_l_p_h_a_ _ _ _ B_u_y_e_r_ R_e_f_e_r_e_n_c_e_ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ D_r_o_p_ _S_h_i_p_ _T_o_ _N_a_m_e_ _ _ _ _ _ _ _ _ _ _ _ _ _ V_e_n_d_o_r_ _A_c_k_#_ _ _ _ _  _O_r_d_e_r_ _V_a_l_u_e_  _ _O_p_e_n_ _V_a_l_u_e_

3886      C  Mon 08/12/13 Mon 08/19/13 EXCELLWA   P1                                                                Z215798               324.00       324.00

I_t_e_m_#_ _ _ _ _ _ _ _ V_e_n_d_o_r_ _P_a_r_t_#_ _ _ _ _ _ _ _ _ D_e_s_c_r_i_p_t_i_o_n_ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ T_y_p_  _ _O_r_d_e_r_e_d_  _R_e_c_e_i_v_e_d_  _ _B_a_l_a_n_c_e_  _ _ _ _ _C_o_s_t_ U_ D_i_s_c_%_  _ _ _M_u_l_t_  _ _E_x_t_ _C_o_s_t_

G1032                             1/4-20 LOCK NUT FOR G5812/                  100         0       100     30.00 C     0       0      30.00

G5814/G3812

G1034                             3/8-16 LOCK NUT FOR G5812/                  200         0       200     35.00 C     0       0      70.00

G5814/G3812

G1132                             1/4-20 LOCK NUT W/O SPRINGS                 300         0       300     28.00 C     0       0      84.00

G1134                             3/8-16 LOCK NUT W/O SPRINGS                 400         0       400     35.00 C     0       0     140.00

5,435.00     5,435.00

2 records printed


